
qm=;+= cfo /sd ?= qm=;+= Joo cg"dfg-sfo{qmd tkm{_ /sd ?=

k'lhut tkm{ 1 ;Dk'/s sf]if 23522049.66

1

ut df}Hbft lhDd]jf/L ;l/cfpg]-

gkf_ 49622049.66 2 cfly{s ljsf; 8550000.00

2

ut df}Hbft lhDd]jf/L ;l/cfpg]-

jf;_ 328094.00 3 ;fdflhs ljsf; 11500000.00

3

;+#Lo ;/sf/ ;dfgLs/)f cg'bfg

101800000.00 4 k"jf{wf/ ljsf; 44500000.00

4

k|b]z ;/sf/ ;dfgLs/)f cg'bfg

11700000.00 5 jftfj/)f tyf ljkb Joj:yfkg 7000000.00

6 ;"zf;g tyf ;:yfut ljsf; 5050000.00

7

;dfg'kflts lg/Gt/ ;du|

ljsf; sfo{qmd 7000000.00

8 j*fut ah]^ 49500000.00

9 ;jf/L ;fwg Joj:yfkg 6500000.00

10 jf; sfo{qmd-ut qmdfut of]hgf_ 328094.00

k'lhut hDdf 163450143.66 hDdf 163450143.66

rfn' tkm{ 1 rfn' vr{ 79760000.00

1

;+#Lo ;/sf/af^ k|fKt x'g] /fh:j

jf*kmf*af^ k|fKt cg'bfg
71081000.00 2 ;zt{ cg'bfgsf sfo{qmdx? 271100000.00

2

k|b]z ;/sf/af^ k|fKt x'g] /fh:j

jf*kmf*af^ k|fKt cg'bfg
3679000.00

3 gu/kflnsfsf] cfGtl/s cfo 5000000.00

rfn' hDdf 79760000.00

4

;+#Lo tyf k|b]z ;/sf/af^ k|fKt

;zt{ cg'bfg 271100000.00

rfn', k'lhut tyf ;zt{ cg'bfg

s"n hDdf 514310143.66

rfn', k'lhut, ;zt{ cg'bfg

s"n hDdf 514310143.66

h}ldgL gu/kflnsfsf] nflu cf=j= 2075÷76 cfo tyf Joo ljj/)fsf] ;f/f+z ljj/)f


